Wednesday 8th July - Maths

| Can you solve the following in | minute?

a) 2x 2 = b) 8 x 10 = ¢ 3xk = d) x| = e) Dx5 =
fl bx2-= g 5x3 = h) 8 x 2 = i) 3x3 = j)2x7 =
2. Solve the Yollowing using the column method.
213 a) 25 x 3 = e) 38 x 2 - ] Have a go at this challenge:
y 3 b) 36 x 2 = kb x5 = 85 x 8 =
) k8 x5 = g) 65 x L+ = 92 x 8 =
6 |9 d) 62 x b = h) 75 % 3 = 98 x 10 -
3. Draw groups and use sharing to work out these division questions.
) L R These ones have remainders!
b) L2 + 3 - Example: 65 + 3 = 2| r 2
o 38+72- al 71+ 3-
d 70+5- b) 58 +L -
o) Bl +3- cd 87/+5-
Solve the following problem questions. ? A )
L. Miss Davis has 48 sweets and she wants to share them equally between 10 = N
pupils. )( ;
a) How many sweets will each pupil get if they receive an equal amount? 3%
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b) How many sweets will be left over?

c) Miss Davis decides to share the remaining sweets equally between two more students. How many
sweets will each student get?

5. Leah has 5 flower pots and she plants 8 seeds in each pot.

a) How many seeds does Leah have altogether?

b) Leah adds another 3 flower pots and plants 6 seeds in each pot. How many
more seeds has Leah planted altogether?

| have forgotien what t@‘ Jack says, “The answer is more than 3 x L4”

4x4is. Complete the calculation to prove this. bk x bk = 3 x b+

Fag says, “The answer is L less than 5 x 4+°

Complete the calculation to prove this. b x b+ = xL -

Leo says, “The answer is double 2 x 4+

Complete the calculation to prove this. b x4+ = x L x
Whose idea do you prefer? \/\/hg?
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